Seat No.: Enrolment
No.

GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-V ¢ Examination — WINTER ¢ 2014

Subject Code: 3350604 Date: 04-12-2014
Subject Name: Estimating, Costing and Valuation
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
Q.1 Answer any seven out of ten. 14
1.  Enlist the methods of approximate estimate.
2.  State the factors affecting Rate-Analysis.
3. Give the service unit for (i) Canal (ii) Hospital (iii) Dam (iv) Stable
4. Define Lead & Lift.
5. What are the principles of specification writing?
6.  Give the measurement unit for (i) Skirting (i) Dado (iii) Wooden frame (iv)
M. H. Cover
7.  Define Cost, Price & Value
8.  Enlist the methods of valuation (Land & Building)
9. Define Depreciation. What are the methods of depreciation?
10.  Give the multiplying factor for painting (i) Flush door (ii)Rolling shutter
(iii)Collapsible gate (iv) Fully glazed door
Q.2 Find out the quantities for following items from Resi. Building Fig .No.1
(@) Excavation for foundation. 03
OR
(a) Foundation concrete C.C. (1:4:8) 03
(b) D.P.C. at plinth level 03
OR
(b) Earth filling into plinth. 03
(c) First class brick work in C.M.(1:6) up to plinth (without steps) 04
OR
(c) First class brickwork in C.M. (1:6) for super structure (without parapet). 04
(d) 12mm thick cement plaster in C.M. (1:4) for main rooms only inside. 04
OR
(d) Mosaic tiles flooring & skirting in Drawing & Bedroom only. 04
Q.3 (a) Write deduction rules for opening in plastering work. 03
OR
(@ Write mode of measurement for R.C.C. work in brief. 03
(b)  Write detailed specification for Wood work (Doors & windows) 03
OR
(b)  Write detailed specification for first class brick masonary in C.M.(1:6) 03
(c) Derive rate analysis for 10cm thick brick partition wall in C.M. (1:4) 04
OR
(c) Derive rate analysis for 10cm thick R.C.C. Slab (1:2:4) 04
(d) Enlist the items involved in (i) Day work (ii) Spot items 04
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Differentiate between (i) Scrap value-Salvage value (ii) Book value —Market
value

An owner of a property creates a sinking fund by depositing Rs.2000 from rent
amount every year. He wishes to make extension of building after 20 years. If
rate of interest is 10%. How much amount will be accumulated?
OR

A person has taken a building loan of Rs.500000/- from a bank for 20 years
with 9 % rate of interest. Find the annual installment of loan.
Calculate monthly rent of a newly constructed building from the following
data.

(i) Cost of land Rs.700000/-

(i) Cost of construction Rs.500000/-

(i) Total outgoings including S.F. are 15 % of gross rent.

(iv) Net return on const. cost is 10 % & on land cost is 5 %

OR

A property earns net income of Rs.48000 annually. The life of the property is
30 years. If rate of interest on capital is 6% & on S.F.is 4%. Decide the value
of property.
Calculate the quantity of earth work by Prismoidal formula for a road section
having following data.
Formation width 12.0 m. The F.L. at 90 m. chainage is 80.0 m. and the road
has upward slope of 10 cm in 30 m. Side slope for banking 2:1(H:V) & for
cutting 1:1 (H:V)
Chainage (m) 0 30 60 90 120 150 180
G.L. (m) 80.20 80.10 79.90 79.90 79.90 79.90 79.90

Determine the quantity of steel for main bar in R.C.C. slab from given fig.
Determine the quantity of distribution bar in R.C.C. slab from given fig.

Find out the required quantity of materials for R.C.C.(1:2:4)slab for givenfig.2
Draw the cross section for (i) Level section (ii) Two level section (iii) Side —
hill two level section in earth work.
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